3. Find the critical point(s) for the function f(x,y)=»* ~3yx* —3)* —3x* +1 and classify them
using the second partials test, (15 points)
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4. Find the critical point(s) for the function f(x,y)=y* —2x* ~42* —6xz+5z~11. (7 points)
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7. Maximize f(x,y,z)=xyz subject to the constraints X+y+z=32,and x—y+2z=0.(15
points)
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- 8. Sketch the region in the plane for the following integral
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10. Find the center of mass for the lamina over the given region with the given density:
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11. Find the area of the surface of the cone z = 24/x? +y” inside the cylinder x? +y =4, (15

points) 5 = 3 (% 3 \_\‘{I) ) Ya, |
~— Y \2 _ X LA e 4 } . j—f
V&G 4 L
X LT\P'

e i (== R

rR

TQMMIQ\/\?%A ol R = ¢ 42
j) F. brl J< rdrde _df'% r2§: 4o = j:(r

91 | ()
| 005 4o = ass(amr-0)= | 4R T |



